Chemistry Unit 5 Homework 4
Limiting Reactants Drill and Practice
1. When lead (II) nitrate reacts with sodium iodide, a double replacement reaction occurs. If .128 mol of lead (II) nitrate and .206 mol of sodium iodide react:

a. What is the limiting reactant?

b. How much of the other reactant will be left over?

c. How many mols of lead (II) iodide will be produced?
2. In difficult economic times, certain precious metals become very important. Silver and gold are highly sought after. If you had abundant calcium (a not so precious metal) and 1 Kg of silver nitrate, what mass of silver could be produced?

3. Gasoline is really a mixture of compounds, but for simplicity’s sake can be thought of as octane. Octane combusts according to the reaction:

2C8H18 + 25O2 ( 16CO2 + 18H2O


If 2.0 kg of octane combust in an abundance of oxygen, what mass of CO2 will be produced?
4. Hydrochloric acid and sodium phosphate react forming phosphoric acid and sodium chloride.  If 2.55 mol of HCl react with 1 mole of sodium phosphate,

a. What is the limiting reactant?

b. How many mols of the other reactant is in excess?

c. How many mols of each product are formed?

